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1,00,000

problem 31 : A Limited Comapny is conside 2ring iny,

project requiring a capital outlay of Rs. 2,00,000. F")ﬂu e

income after depreciation but before tax is as follows:

Year Rs.
1 1,00,000
2 1,00,000.
3 80,000
4 80,000
5 40,000

) 5OO/Deic)reciz?ﬁon may be taken as 20% on ongmal cost and e
> O net income. Calcylate - ‘

a) Pay-back method.
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jplem 3: There are o projects A and B. The cost of the project

P77 5 00 in each case. The cash inflows are a5 under:

e, 304 e

' Cash inflows

Yeart Project A Project B
‘ 10,600 2,000
) 10,000 4 000
3 10,000 24,000
Calculate pay back period.
Solution:
_— Project A

Project B
Year Cash Cumulative Cash Cumulative
inflows Cashinflows  inflows Cash inflows

1 10,000 10,000 2,000 2,000
2 10,000 20,000 4,000 6,000
3 10,000 30,000 24,000 30,000

TN

The pav-back period is 3 vears in both the cases. However
‘f’\«:\i‘:: =~ IS E“E

ter compared to project B because cash inflows are
grezter In the iniHal vears.

\ T

o1 Rs. 30000 after depreciation at 12% p-a. but before tax of 50%
Caloulzie par hack

g
@zt par Dack peried.

5,00,000 and vields annually a profit

(B.Com., Bharathidasan)
Solution:
o IniHal investment
£2¥ back period =

Annual cash inflow
Tital Investment = Rs. 5,00,000
Atmual cash inflow = Profit after Tax plus Depreciation

1 T

—i

Rs.
Tront before tax 80,000
<=2 Tax @ 509 40,000
=-_ =
TTOht after tay

.
Ad
L2

40,000
60,000

1,00,000
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d. Deprediation (R, 5,00,000 x 12%)

¥

——
‘=113 b
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ual cash inflow



* 2 AR} / * 1
plem o: A company Pmposmg to expand itg producti
' der for an automatic machipe cost Iean go

R " in Y. I{S. 2
o life of 5% years or an ordin ! 24 ()

ary mack; 00 with an
L ad e of Q . Ine cost;
R i‘\:m‘, an cshlnmlnd life of 8 years. The annyg] sales l:EdRS. o000
hl\l\ m‘\lcd as follows: 1€ Costs are
\:.'\ b ;
‘ Automatjc Ordinary
Machine Machine
R | Rs.
Sales 1,50,000 1,50,000
(‘Oh‘ts:
Material - 50,000 50,000
Labour 12,000 60,000
Variable Overheads 24,000

20,000
Compute the comparative profitability of the proposals under

the Ny-back period and post pay-back period. Ignore Income-tax.

(B.Com., Bharathidasan adapted)

Solution: : o
Profitability Statement
" Automatic . Ordinary
Machine - Machine
Rs. | Rs.
Cost of the machine 2,24,000 60,000
Sales 1,50,000 1,50,000
Less: Cost(Material, '
labour, overhead) 86,000 1,30,000
Annual Cash inflow 64,000 20,000
2,24,000 60,000
Pay back period ~

meitability be B

yond pay-back =
64,000 x 2 (5% yrs. - 3k yrs.) . = Ks. 1533%%
20,000 x 5 (8 yrs. -3 yrs.) = Rs. 1,00,00

. : chine
Fl’Om H\P viourmaAint Af rmaxr_harl nm‘lnd alone: Ordlnary machm
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problem 10: A firmis considering two

projects A and B. -
partlcularq are available: } and B FOﬂox»mg
t I:RI;Oject A Project B
COS ‘1!00r00{) Rs_ ‘1 00
.-\nﬂual CaSh Inﬂ0\\’s RS. 25,[“) m. r 20’%
Economic Life 1By i

Which project will vou suggest under a. Pay back period

b. Post pay back profit and c. Post pay back proﬁtablhtv m?i:
Solution:

(B.Com., Bharathidasan adapted)
a. Pay back period = Initial Investment / Annual Cash Inflows
Project A = Rs.1,00,000 / 25,000 =4 vears

Project B '= Rs.1,00,000 / 20,000 =5 vears
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haw shorter pay back periog N g
\ has @ v

"lt‘f“"'

cugested ~ Annual Canhe Inflowa (144,

wofit Mg, B

P 000 f 1) vears . 4 B,

b Post pay P

Prope A )
[n 290000 % 6 yoars o .

' .\' “ '\',‘l ."’,”‘)” ( “’ V“"‘N - 5
TOp .

'\'h .'I’,””” N 'l Vaiary o Rf’i.l

Post pay back profit i higher in Project A than "r‘-‘i('cts' 3
““‘ "' . & 5

project A s sugpeste .

Post pay back profit -
' ) . i T A N e e ———— A 3 3
¢. Post pay back pnmlab“ll) index Initial investmen X lm._

Project A= Rs. 150,000 / 100,000 x 10 -
Project B Rs. 100,000 / 1,00,000 x 100

Profitability Index of Project A is higher than Project B,
Progect A should be chosen.,

-

- NET PRESENT VALUE

-

Problem 11: projoct X mitiall cost
following cash inflows:

s Rs. 25,000. 1t generates

Year Cash inflows Present Value of
Re. 1 at 10%
I Rs. 9 000 (.909
;.
Rs. 8,000 0.826
.; h -
4 Ry, 7,000 0).751
,. Ry, 6,000) ‘ 0.683
“ J | L
Ra. 5 000
Takine v 0,621
shouh: :1‘:'"';&- '311.' CUL-Off rate o 10y, |
accepted o hot, v SUBBest whether the P
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